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TEST -2 EXAMINATION- 2024
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COURSE CODE (CREDITS): 18B11MA312 (4) MAX. MARKS: 25
COURSE NAME: PROBABILITY AND STATISTICAL TECHNIQUES

COURSE INSTRUCTORS: MDS

MAX. TIME: 1 Hour 30 Minutes

Note:

(a) All questions are compulsory.

(b) The candidate is allowed to make Suitable numeric assumptions wherever rquxred

Jor solving problems
(c) Scientific Calculator is allowed.
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Q.No

Question

co

Marks

Q1

Estimate of the variance and standard deviation of the following d
marks obtained in a test by 88 students.

Marks 0-10 10 20 3040 ™ ] 4050

Frequency | 6 16

CO-1

Q2

A bag contains 7 red and 3 black marbles.:2 fher bag contains 4 red and 5
black marbles. One marbles is transferred‘fr in.fhe first bag into the second bag
and then a marble is taken out from tQé“Sec@Jld bag at random. If this marble
happens to be red, find the probabﬂ /that a black marble was transferred.
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CO-2

Q3

A random variable X has th __uolff)‘\y;iﬁg" probability mass function:

N 2 3 4
PX=x) gn| Y 3k | Sk | 7k | 9k

Find (a) tpé-’i:}al‘ué?of‘é (b) P(0< X <4) . (c)Cumulative distribution
function’(CDE)

CO-2

IfXisa Gontmuous random variables whose probability density function (PDF)
IS glven by

e N R I et
fGx) =

0, otherwise.

| Find (i) the value of ¢ (i) P(X > 1)

CO-2

Q5.

The odds against A solving a certain problem are 4 to 3, and odds in favour of B
solving the same problem are 7 to 5. What is the probability that the problem is
solved if they both try independently?

CO-2

Q6.

The mean and variance of a binomial distribution are 3 and 2 respectively.
Calculate (a) P(x =1) (b) P(X =2) (c)P(X =3)

CO-2
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